

$$12) (3 + (-4)) + 2$$

$$= (3 - 4) + 2 = -1 + 2 = 1$$

$$3 + ((-4) + 2) = 3 + (-4 + 2)$$

$$= 3 + (-2)$$

$$= 3 - 2 = 1$$

$$\text{Apa, } (3 + (-4)) + 2 = 3 + ((-4) + 2)$$

$$13) (-8) + 1) + 5 =$$

$$= (-8 + 1) + 5$$

$$= -7 + 5 = -2$$

$$-8 + (1 + 5) = -8 + 6 = -2$$

'Apa,

$$(-8) + 1) + 5 = -8 + (1 + 5)$$

$$14) ((-2) + (-3)) + 67$$

$$= (-2 - 3) + 67$$

$$= -5 + 67 = 62$$

$$(-2) + ((-3) + 67) =$$

$$= (-2) + 64 = -2 + 64 = 62$$

$$\text{Apo, } ((-2) + (-3)) + 67$$

$$\begin{array}{c} \parallel \\ (-2) + ((-3) + 67) \end{array}$$

$$15) ((-1)+3) + (-5)$$

$$= (-1+3) + (-5)$$

$$= 2 + (-5)$$

$$= -3$$

$$(-1) + (3 + (-5))$$

$$= (-1) + (-2) = -1 - 2 = -3$$

Apa,

$$((-1)+3)+(-5) = (-1)+(3+(-5))$$

$$16) (3 + (-5)) + (-2)$$

$$= (3 - 5) + (-2)$$

$$= -2 + (-2) = -2 - 2 = -4$$

$$3 + ((-5) + (-2))$$

$$= 3 + (-5 - 2) = 3 + (-7) =$$

$$= 3 - 7 = -4$$

$$\text{'Apo, } (3 + (-5)) + (-2) = 3 + ((-5) + (-2))$$

17)

$$((-2) + (-3)) + (-4)$$

$$= (-2 - 3) + (-4) = (-5) + (-4)$$

$$= -5 - 4 = -9$$

$$(-2) + ((-3) + (-4))$$

$$= -2 + (-3 - 4) = -2 + (-7)$$

$$= -2 - 7 = -9$$

Apra, $((-2) + (-3)) + (-4)$

$$= (-2) + ((-3) + (-4))$$